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(2) NAB,C, W R E .
Yy

B
AN AN
O i

0

(1AM ELETRUEY
%ﬁ%%é
%%%%%#%%ﬁﬁ%%%ﬁé

BPE R, B B B9 MR

& 7.
TRilZ%=

u>ﬁ=mT@mﬁ,AA&Q§

R oK.

RIS oK.
y
e
C, O X

o

B,

(3) (2, 0)
HRE S

2 (1 3

3@
@) B WMFEFR. AABC,

.
y -
E ] s
1 i 1 I’O_ I(FI')I 1 1
i F' X
)

HE S5, 5 E B R E 4
R (—2, D B (2, —D. #%
¥ D.

[#E#)YCA (0, —3),
B (=2, 00, S.OA=3, OB=2.

e SA/\OB :% X2 X3=3.

2) . OmBE=E, 85 A (5,
1). B (3, 4.

...SAOA’B’ :4 ><5 _% ><3 ><4_% X

1 17
2 X3 2><5><1f2.

@P (—1, 10).

(D WA, AABC IR

JIisK.

(2) WFE, AAB,Co B KR,
y

A

A )y
0

 BBEWE
IO ¢ i X - R A

(45, 43) [fE AT Y . 15



5E5%

fBlEm (1) 3 60

B PH 8 (8=2X4) sizzhs]
B2, 0. 524 (24=4%6) s
EHFN L (4, 0), 548 (U8 =
6x8) siEENE M (6. 0. LI
Silfe, AP 2020 +2) sIE
FENE (2, 0). T2024 =44 %
16, SBA P 2024 s IEAF
(44, 0). 72068 —2 024 =44,
CHRES B, 5 P Rk
44, 0 Ja. mA#%sh 1 Ao ZRE
K, SR RS 43 AR fik
BEFK A (45, 43). SH52068s

s P TN B RO BRI (45, 43).

OBEILIAILL  Hi iRz

LURNEN
4

/Noe
B CN\ /M
B/
W=, 84 AABCoHAAB'C'.

. Space (AB/)Z —(/3)? =3,

AB

S NABC

/B=_/B. ' JANB= /BNM, |

~. /BMB' = /BAB' =60".
(2) f#.
HIE .

S /BAC =90°.

0 = LCAC = /BAC —

/BAC=90"—30"=60".

(R IEK BC
S8 AB'L B'C'F AN M.

VY ABB C R

£ Rt AABB 1, ~ABB =90°,
~BAB’ =60°,
s /AB'B =30°.

:AB, —
AB
[RHRIXAFELZETHN=ZA
MW 5 M . Be M .
BB H, $AMRE, #E

B K.

2.

Sem

V2 EEAME—  [ERINT
K, s AfEAD LBC F# D,
D343 Spasp = Spapcs < AD =
M= A RKr—4% "R

1

“AC= 2, CD = §BC =1,

S AD=/AC? —CD? =22 —1? =
J3. Y4 EF /BC B}, EF Rk

El/‘]*% “ﬁﬁé”, ' SAAEF =
. 1
SITEIiB%BEBCF s e SAAEF = §SAAB(,‘.

“"Spae \BC 27 2
it EF =J2. S22 =
“TIAR” Kl LA JEV2 8i/3 B T2

FIN3 Z A 1 A S5
4

by
!

ERFE LK

fg: (1) A DZEAB M ERYESE
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VAR o . :
rES. HhR. | “Eéﬁng’ggzgg
"*AB=AC, /A=36°, |
. /ACB= /B=72° SeSpacp * Spase =Spsep * Spaco.

E ‘. = f “_—%;{\/ %
2 CD V45 S ACB. Q‘CD B AABC By “# 4 4% E
s /BCD=_/ACD=36". A
" /A= _/BCD= /ACD, -1 m=E BEAR=AH/E
~B=_B, i o o
. BC_BD Bif = ﬁj %
*“*BA BC®
* /A= /ACD, Bl— B [@FLLA AEAD LBC
S AD—=CD. . T4 D. WFE. # Rt AABD
** CDB= A+ /ACD =36° + ., ~ADB=90°, AD=BD =3,
36°=72°= /B, . NAB=JAD’ 1BDF =/ 13 =
< CD=BC. 3J2. . cos ~ABC :% _3 _
. AD=BC. f 32
. AD _BD MZE
“*AB AD- ;

S DREAB LR CHAesE A

o A

(2) P2 CD RAABC i) “#4 B D C
AYEILE. HFBIR . |

[EHRIAATELETEETF
WAABC Y, ABI FR9E R R,

Pl I 5 R0 E

M S e =5 AB « b,  OXMREAE, BREFRAT RS
.  Bmse.

Sean =g AD < b - Blg—

Sewn—LBD 1A [EBATMNE. %4 BC. b
: “ik. 7E Rt AADBH, AD =3,

“oSpacp * Spape =AD + AB, DB=1, W AB* = AD* + DB? =

Spasep * Spacp =BD # AD. 32+17 =10. [F] ¥ ] &, BC* =

i (1) 1. & D& AB i B 10, AC* = 20. .. AB = BC,



M

AB* +BC* =AC".

Hgﬁﬁj Eﬁ ﬂ:/;- 0.0 ABAC - 450.
‘. cos /BAC = cos 45° —g.

4 F
K::>c
D g E

D

S AABC H%

=

MRNEETERRAZTE: ON
EmE; QNEESE. X¥BNF
Al BE B9 7 k. R L BR N E M
KT B A A LA E = A
A= AR

TR

AT, i CfE

CD L AB F 45 D, W ZADC =

90°, AD =3, CD =4,
AD+CDP = /37 +47

. . _CD_ 14 .
..sméBACfAC 5 ik D.

5.

A

D
B

C

5l =

/D= _,D,
EP’{A)P:F—ﬂ)c&
5. ADEF»ADCB.
. DE_EF
“*DC CB"
“* DE = 40 cm,
CD=8 m=800 cmS,

. 40 _ 20
"*800 BC

f#158 BC=400 cm=4 m.
"*AC=1.5m,

SLAC =

ﬁ:ERw@HWﬂMAMBéw:

EF =20 cm,

SAB =AC +BC=1.5+4 =

5.5 (m).
BPAS = 5.5 m.
[SRIFI AU =R HES

31

fi#. ""BC1CA, MN | AN,
S /C=/MNA=90".
WAl %1, ~BAC= _~MAN.
. ABCAW»AMNA.

. BC _CA
“"MN NA®

" BC = 1.6 m,
NA =30 m,

. 1.6 1.5

“MN T 30
SMN =32 m.

fi#: 7E RtAABC o,
W ZACB=90°, ~A=30°,

CA =1.5 m,

LBC:%AB

‘**AB=8 cm,
S.BC=4 cm.
D Al AB By AN,

I
= ZAB 4 cm.

“"DE | AC,
S AED=90",
1+ Rt/A\NADE

_1
=5 AD.

-.CD

W A=30°,
<.DE

— LB,

JAD 2

X
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“.DE=1AB=2 cm. o L=
o | o
Lelhizgss7 <4508 ~CE-gAE BAE=2CE,

WMEAZABHWER” = “ERA 2. . (1) “DERACH LWEE
SRR PR R ERT. Bk Pk,

BEFE A ERERSLER | CD=AD, DE | AC.
AP R B9 32 . A DCA=SA=30".
TRNE= " /ACB=90°,
1. iEBA: W AB Rh i M, % 4% ". /BCD = /ACB — /DCA =
EM, B, 90° —30° =60".
O~ g @) VLB =90 — A =907
Q\ o 30°=60".
A M B ’./BCD= /B.
" AE ¥4y ~/CAB, ~.BD=CD.
S /1= /2= ZCAB, “.BD=CD=AD— AB,
W LBAC=2/B, "'DE=3, DE | AC, /A=30°,
5. /2=/B. " AD=2DE =6.
S AE=EB. | S AB=2AD=12.
~.EM | AB. |
BB

So /EMA=90°,
AB=2AC, AB=2AM,
SAC=AM.

L B[RRI,

A

7EAACE #IAAME th,
AC=AM,
[ pLCe!
J1=2,
WAE_AE “*AC=3, BC=3, ..7ERt/\ABC
S AACE2AAME (SAS). e AB=VACTHBC =/F 5 =
5/ C= /EMA =90°, | .. AC 3 2

3«/?. ..Slna:E:7:7.
7F Rt/AACB 1, 3/2
L1+ 22+ /B=90°, 2. f&. (1) VAD R BC LW,
/1= ,2= /B, ~.AD | BC.



AEE%

#E RUAABD i1, sin B=52.
AD=12, sinB—+,

jg; 12xg<:w. |
SBD=JAB “AD — /1% 12 —
9.
‘*BC=14,

~.DC=BC—BD=14—9=5.

(2) £ RtAADC H,
VERAC R,

S AE=EC.

3DE:%AC:EC

s/ EDC= /C.
1 RtAADC v,

t nC:@:Q
a DC 5

‘‘tan S/ EDC=tan C —Q

. f&. "AD//BC, ~DAB=90°,

. /ABC =180° — /DAB = 90°,

/BAC+ ~/EAD=90".
“AC_1BD,

s AED=90",

S /ADB+ /EAD=90",
S /BAC= /ADB.

S ANABCoHh/ADAB.

. AB _BC

"*DA AB-
8- AD,

S AD=2BC.

4

S AB* =BC X2BC=2BC"*.

=J2 BC.
T RtAABC 1,

BC _
AB

BC _
IBC 2"

(1) i IR R # B,

BM

D B G F
(2) WM &0 H, LABG =
/CDG =90".

Xt SAGD RS,
S AABGACDG.

. AB_ BG

“*CD DG

**DF =100 m,

& B & DF [ g,
~.BD=BF =50 m.
“*AB=5m, BG=10m,

.5 _ 10
"*CD 50 +10°

S.CD=30 m.
" /ABD=_/EFD=90°,
ZEDF Jy344 .

S ANADBLAEDF.,
.AB_DB 1

“*EF DF 2°

S EF=2AB=10m.
S.CD—EF=30-10=20 (m),
RIZNBH /N o5 RN 1R R0 e 28] 4
T AR RS 2 2574 20 m.

tan /BAC =




UmsEs

BEHieB5iE PR tm Hs

Bl— D

ZEEHE

fi#. W AB=xm, BC=ym.
" /ABC=_/EDC=90°,
ZACB= /ECD,

S AABCoHO/AEDC.
.AB__BC

""ED DC
“"ED=1.5m, DC=2m,

X Y

15 2

“ /ABF= _/GHF =90°,
/AFB= _/GFH,

S ANABFoo/AGHF.

. AB _BF

"*GH HF"
*"GH=ED=1.5m,
BF=BC+CF= (y+10) m,
HF =3 m,

.. x _y+t10
LN .5 3 .

_y+10
3 -

vy=20.

—_

Do fe

it
— S
2 y=20 feA7: =3

H r=15.

SHEE AB A 15 m.
B2k WEM =B

N
4m

AB=1.5m,

TR —
1. C [@BwIwTHE, I

2,210 [@AFIMA,
G20 [ELs - re ST

% ABCD f& i J%. BC =15 m.
SAD=BC=15m,
CD=AB=1.5m. £ RtAADE

i, SEAD =30°, AD =15 m,

S.DE =AD -+ tan 30° =15 X?—

543 (m).
1.5+53 = ( 543 ) (m). B

D.

(FHRIABEEEETHEAA=
AMAELITEEFHNA, 4 307
AMEAZANE. BB A=
iR B R SR AR R R L K B

" CE =CD + DE =

+ & P E
PH |AB T H, " /AAPB &7
il 1200 EE =K, AB=

6 crm, .'.AH:BH:%AB —3 em,

JA= B=30°. . AP =BP =

2PH. .. % = cos A = cos 30°.

. AH 3

SLAP c0s 30° 3 2J3. S
2

R P K T 2AP —AB = (443 —
6) cm. #k C.

P
N
|
|
|
-

A H B

o E A E
AE | BD 7S E, o5 BYEBG |
CF T4 G, £ Rt ANABE i,

. AE = 200 X



sin 20°~ 68 (m).

ce B
o smIB:Bf(Gj,

sin 45°~142 (m).
B8 AE + BG = 68 + 142 =
210 (m).

Bl= f#. W4 AMEAD LBC Th

D, Wk K.

A
/H\
B D C
W AD ==,
_AD
1 RtANADB 1, tan B= BD’
/B=45°,
S.BD=AD=z.
: ._AD
" RtAADC 1, tanC—CD,
~C=30°,
~cp=AD __AD =J/3z.

tan C  tan 30°

X' BD+CD=BC, BC=30+

303,
Sox +H/3x=30-+30/3.
cex =230,
. AD
1 Rt/A\NABD 1, SmeAB ,

7 Rt ABCG |
5 BG =200 X

SRR

. _AD _ 30 _ 30 _
- AB = sin B sin 45° ﬁ

2
30/2.

[FHRIAAETELHETRHA=ZA
B HEAZ AL, F iz
HAZAMIAZ 0K R MR
Je] 2.

TR
L f#. M CHECD LAB D,

L) o

C
A D
1 RtAADC
" /CDA=90°, ~A=60°,

. CD
"*DA

V3,

=tan /DAC = tan 60° =

Hl DA = fCD

# RtABDC v, * /B=45°,
S /BCD=45°,

S.CD=BD.

S.AB=DB+DA =CD +§CD =

S.CD=12—4/3.

S e :%AB XCD:% X 8 X

(12—44/3) =48 —16/3.
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2. f&. . A=105°, ~C=30°,
. /B=180°—105"—30°=45°",

i A AfEAD LBC 5D, W

F .
B
VA
A C
.. /ADB= /ADC=90".
£ RtAADC 1, :
© JADC = 90°, SC = 30°,
AC—4, '
S AD =2,
. CD V3

“AC =cos /C=cos 30027.

s.CD —gAC =2.3.

€ Rt AADB #i, ZADB =90°, |

/B=45°,
~./DAB= _/B=45",
S.BD=AD=2.

S.BC=BD-+CD=2-+2/3.

BI= #B. WFE. 38 DEDG L

AE TG, 13E GBED,
“.DF=GB.

# Rt AGDE ", DE =80 cm,

LGED :480 ’

< GE=DE X cos 48°~80 X 0. 67 =
53.6 (cm).

SGB=GE +BE =53.6 +110 =
163. 6~164 (cm).

S.DF =GB=~164 cm,

RV ST s i D B LIRS 5 DE
214 164 cm.
(IR T ELEETHEA=
PV Uy R L. AR R ARRL B KRR
HEMEAZ AN T 2 —W
HHAZAW.

- ERig=

fig. & AYEAH LEF T/ H,
ZHZ% DG FE M, i BAE
BN | DG T4 N, BP | AH T4
P, W pyih & BNMP F1 4 i &

DEHM Y155, 4 R KRR,
A

I
I
|
YA — op

NdD GjiM__
E FH
.PM=BN, MH=DFE =5 cm.

“'BP // DG,

~. /CBP=_/BCD=T75".

s /ABP = /ABC — /CBP =
120° —75%=45",

£ Rt NAABP H, /APB =90°,

o AP
sin 45 ~AB’



AE%EE

SAP=AB « sin 45° =100 xf -

50 /2 cm. .

7 Rt ABCN 1, /BNC = 90°,
._BN |

sin 75° BC’

S.BN=BC * sin 75°~80 X0. 97 = |

77.6 cm. |

S PM=BN=77.6 cm.
" AH = AP + PM + MH =

5042 +77.6+5~153.1 (cm),

BIFE 5% i B i 05 A B EF Y

B RS2 153. 1 cm,
AR TE S
1. D [##1% Re AABC i,
/ACB=

BC
AB

0.60=2, . ABNEBL—%

5
6=10 (m). #ik D

2. B

**sin S/ BAC=

#E. 2 tan /DBA :% _ %,
~.BE=5DE.
i = e,
‘. /ADE= 45,
. BE= 5AE. ¥

6
sin 45° 62.

A = 45°
. AE = DE.

AB=

BE=AE +5AE =6J2. ..AE =

90°. BC = 6 m,
= sin 37° =
(#4714, fE DE LAB ¥

" AABC WA

AC = 6.

SAE +

B B, 3 AD =V2 AE =2. i
1% B.

C
D
h
: A E B
3. . MR, 3w B, C A4 RIME

AE Eﬁﬁ%‘z ﬁﬁ/\”UﬁM N,

T{ RtA\ABM v,
" /BAE=60°, AB=16 cm,
~.BM=sin 60° « AB —f xX16 =

843 (em),
~ABM=90°—60°=30°".

1 RtABCD v,

' /DBC = /ABC — /ABM =
50°—30°=20°,

s /BCD=90°—20°=70".

N BC=8 cm,

. BD = sin 70° X 8
8=7.52 (cm).

S.CN =DM =BM—BD =8,/3 —
7.5226.3 (cm),

A C 2| AE BRI 290 6. 3 cm.

~ 0.94 X

BEEHT
V2. AEF L A AADE d, i)

(1) . " AB =4,

MM R
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AB (gt e ki1
S AE=BE=2. | S
"' AE=2BF, 3R RELf BRI

SBE—1.
M2 e, 15

EF? =BE? +BF? =22 +1? =5,
L AEJ EFGH WmRDY 5.
(2) iF B:. @© W & & M.
/KAE= /B=90", 5
.. /EFB+ /FEB=90", B
" Wi EFGH RIFE I, [

Bl— C [BFLLS OfEOF LAC
: TFTHE, K BD&ZOE T F,
.

B.$35° DA

A C
w+ LHEF=90.. # DF =2 m, ] BF=(3+2)m
. /KEA+ /FEB=90". OF
“. /KEA = /EFB, S Tpps S OF e
~.AKEA&/AEFB, 21rm e 35 =98, LOF -
.KE_EA _ .
..ﬁ*FiB*Z. (3+ x) tan 35 %0.7(3+ x) m

“KE=2FF=2FEH.

@HD, 8 HK =HE=GF.

“ /KHI=_/FGJ] =90°,
/KIH= /FJ]G,

SAKHI2AFG] (AAS).

U Sarey =S,
<o Spkur =Si.
v /K=_/K,
/KHI=_/A=90°,
S AKHIAAKAE.

N S[E]iﬂﬁﬁAEHI =S,
. SAKAE :S] +Sz :<KA

( KA )2 _4KA" =4sin‘q
.- =4sina.
%KE KE

S 2.1x=0.7(3F+x). Jox=1.5.
SOF =2.1 X 1.5 =3.15 (m).
SJOE=0F +EF=3.15+1.55=
4.7 (m). ik C.
(FRIA AT ELEEMEA= A
WA, RAEHAZ AR
Bt 8 LT AL K

BRIIG—
LB ML A fEAE LCD T

ME, WrE.

7
7
v
7
S
s

A ’)/é'_s:/)i/_ -—-AE

|;[///
{60°




AB | BC, DC | BC.
. ZAED= /AEC = /ABC =
C AT ABCE %
Hilb. . BC —AE, EC—AB —
10m. " /DAE=45, /. /ADE=
15°. " AE—DE. # DE—z m.

ZBCD=90".

] BC=x m, DC = (40 +2) m.

6 Rt ABCD 1, tan/DBC=

W

DC
BC’

x+40

’
X

B tan 60° =

+=20(J3+1). " DC=40+2—

(60+204/3) m.

. fi#. “"BC_LAB,

. /ABC=90".

£ RtAABC i,

" /CAB=53°, AB=20 m,
BC

AB’

-_BC
B tan 53°= 20"

S .BC~20 1. 327=26. 54 (m).
7 RtAABD i,

" /DAB=58°,

BD

AB’

._BD
Bl tan 58 20 -

S BD=A20 X1.600=32 (m).

Stan S/ CAB=

Jotan /S DAB=

S.CD=BD —BC =32 —26.54 =

5.46=5.5 (m).

= f#. {E BD LAC T D, A

7R,

W, 18 ~BAE =45°,

~/ABC =180° —45° —30° =105°,
/CAE=15".

<. /BAC=30"

S /ACB=180°—105°—30°=45".
1E Rt/ABCD w1,

/BDC=90°, ~ACB=45°,

S /CBD=45".

~. ~/CBD= /DCB.

~.BD=CD.

% BD=x km, W] CD=x km.

£ RtAABD w1, /BAC=30°,

S AB=2BD =2z km,

-_BD
tan 30 “AD"
W3 x
'3 AD-

S AD=J3x km.
£ Rt ABDC w1, BDC = 90°,
/DCB=45°,

" _BD_2
Jesin LDCB*BC R

S.BC=/2x.
**CD+AD=30+30/3,
Sox+H/32=30+30/3.
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S AB=2x=60 km,
BC =2 x=30/2 km.

L — 2 JH B 60 ¢ 40 =

1.5 (b,

5 AR 302 +30=y2 (h).
V2 <15,

C A E 9. |
Rk ELETHEAZ
A F AR, BN

RREESF MUY A

B A= AT R R AL
THiZ%=

I & 4 DIEDF | BE FAF,

LURNIE) 7N
B C i

" Z/ADE = /DEB — /A =60"—

30°=30°,

S /A= _/ADE.

S AE=DE.

" /B=90°, /A=30°,
BC=40 n mile,

S AC=2BC =80 n mile,
AB=J3BC=40y3 n mile.
*"BE =30 n mile,

S AE =(404/3 —30)n mile.
~.DE = (403 —30)n mile.
7 Rt/ADEF h,

" /DEF=60°, /DFE=90°,
S« Z/EDF=30",

DF—@DE—(GO —15V/3)n mile.

" /A=30°,

S AD=2DF = (120 —30/3)n mile.
~.CD =AC —AD =80 — (120 —
304/3) =(30/3 —40)n mile,

B A5 C w3k Z 8] /Y BE 25
(30V/3 —40) n mile.

. R A BT

W, A C ffE CDLAB T4 D,
£l I
C
A D B
S /ACD=¢q, /BCD=.

AD
CD’

Jotan SJACD=tanaq=

tan /BCD =tan B:%

SAD=CD -« tan a.

BD=CD - tan f3.

i AD+BD=AB,

% CD « tan a +CD « tan 3=100.

100
tan ¢ +tan 8

_ 100
1. 776 +1. 224

_100
3 >30.

TR LN BN 22 32 B I B R Y

D =



W
e
P
h

Bl= . (D WrE, g8 B B
BF | AD T/ F. ’ 4
CP

“i—tan /BAF=2L — L o

" /BAF=30°, Bl «=30",
WORHI AB BB o HYRERUR: 307,
(2) " /BAF=30°, AB=6 m,

.'.CD:BF:%ABzfﬂ m.

£ Rt/ABCE 1,
' ~Z/EBC=70°, BC=5 m,

S.EC = BC + tan /EBC =5 X

b8 = s, SACP = 30°,
/BCP=45".

W AP=x, N AC=2x.
~.CP=/AC? —AP? =/3z.

" /BCP=45°,

S.BP=CP =/31=200 +z.

fifq =100(/3 +1).
~.CP=(300+100/3)m.

X DE =400 m,

QE=CP= (300+100y/3) m,

" QD = QE — DE = (1003 —
100) m.

LQ_3
tan 70°~5 X2.75=13.75 (m). : QD 4’
SED=EC+CD=13.75 +3~ | [ CQ=3k, QD=4
17 (m).  fERLACQD

HOCR TR E BIME D B2

17 m.

URIVAR S S0 R MEAZ A
e BB Z AW f L A R B A
WA RRKERE Y
REHREEWA. WAWRA
TR, HARBA, RERA

CD=/CQ +DQ =5k.
. QD _4k _4 _100/3 —100

*CD 5k 5 CD
S.CD =125/3 — 125 ~ 125 X
1.73—125=91.25~91.3 (m).

. f#. WTHE, K DC Y5 EA &£F

S F, W] DF | EF.

= AW B 2 L ;
3l 5= | .,
1. f#: 18 CHECP LBE T4 P, <

fF CQ | DE F4Q. MAFR EA F
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LCF_ 1 5
CAF 2.4 12

% CF =5k, | AF =12k,
C=VAF* +CF*
Sk=1,
S.CF=5m, AF=12 m.
*SAE=4 m,
SEF=4+12=16 (m).
7+ Rt/ADEF H1,
" /AED=48°,

DF _DF
EF 16

S.DF~17.76 m.
S.CD~17.76 —5=12.76 (m).
mEWCDmmF%ﬁM7&n

=13k =13.

Sotan 48° = ~]. 11.

BRI

B . (1 7 LPAB=90"—65"=
25° LABP=90°+40°=130",
. JAPB = 180° — /PAB—
/ABP=25". :

S.PB=AB=15X1=15 n mile.
(2) o5 PY¥EPH LAB /5 H,
wmr K.

*"PB=AB=15 n mile,

#E RtAPBH th.

/ PBH=90°—10°=50", |
" PH = PB X sin 50° =15 %
sin 50°, |

.15 Xsin 50°>15 Xsin 45°,

J2 _15/2

15 Xsin 45" =15 X 5 T o

S PH >152ﬁ.

KR AR 25 18] 1E 2R 5 R AT
LA

[(REIAEEZEEHEAA=A
U R MR KB EEE R
L&, WEEA=ZAK. A
FZ A B e R AT I R AR

. (1 35 CYECP LAE F44
P, i BEBQ LCP T Q,

LIRS
c

v
-

W SABC=143°,

S /CBQ=

# RtABCQ H,

CQ=DBC « sin 53°~70 X 0.8 =
56 (cm).

“CD//L,

S DE=CP=CQ+PQ
106 (cm).

(2) fig. FHWT .
M B, C. D =it
7.

]I
<

=56 +50 =

Znt, K



B
C
D
4 M

""BD = BC +CD =170 + 60 =

130 (cm), AB=50 cm,

1 RtAABD 1,
AB?* +AD? =BD?,

S ADP=BDF —AB =130° —50° =

14 400.

S AD=120 cm>>110 cm,

S P AL D RERER] A M.
EE 2R

1. #: WFE, M BEBH LAC 5

T H.
B
!

R

C H A
% BH =x m,
' /BCA=37°, /BHC=90°,
BH =« dx

tan 37° 0. 75 :? -

' /BAC=45°,

S ZABH =45",

. /ABH = /BAC.
S AH=BH=x m.
AC=28 m,

. Ax _
..3+x 28.

15 =12,
SAH=BH=12 m.

S AB=+VBH*+AH* =

~CH=

V122 +122 =122 =16.9 (m).
fi#. W&, 1§ ~PBC = 30°,
~/MAB=60°.

S /CBQ=60°, ~BAN =30".

S /ABQ=30".

S /ABC= /CBQ+ /ABQ=90".
**AB=BC=10 km,

SAC=VAB +BC = /100 +10° =

102 ~14.1 (km).

AL C W s Z A ) BE B O
14. 1 km.

fi#. i, oA BAEBH LAC,
LN H.

ST /BAC = 60°,
~/BCA=40°, AC=257 n mile.

1 RtANABH 1,

BH
AH’

48
T

*“tan /BAH =

_AH
cOos 4BAH7AB ’

S.BH =AH + tan 60° = /3 AH,

p=—AH _oap

cos 60°

1£ Rt/ABCH w1,

.. w7 BH
. tan LBCH—CH ,

BH _ J3AH
tan 40°  tan 40°°

N*CA=CH+AH,

SCH=
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_ 257 Xtan 40°

JAH .
tan 40°+ /3

S AB=2AH =

tan 40°+ /3

2 X257 X0. 84

0.84+1.73 168 (nmile),

HI AB K254 168 n mile.
c P12

. #%: (1) 4 B BE |AD ¥4

E, WE s,

1 RtA\AEB 1, sin a:%,
BE _ 4

B 65 13

f#f3 BE=20 (m).

HUNIIS A BI5 B T

1= 20 m.

(2) 445 BY¥EBF L CD T4 F,
WE Fes.

MR . 75 0UiiJE BEDF HAEIE.
<DF =BE=20 m.

& CF=x m,

7 Rt/\CBF w1,

BC ¥ i =1+ 3,

J.BF =3x m.

A e, 15

BF? +CF? =B(C?,

B (32)% +a% =507,

2 X257 Xtan 40°

fitfs x=>5./10.
~.CD=CF+FD=(5,10 +20) m,
HUNHM S A B85 C BT
CD & (5,10 +20) m.

C
B
T F
@ b
A E D

. R A CHECE LAB THE,

WA

M R, il JE BDCE R4
J%. W CE=BD=3 m.

% Rt ANACE w1, CE = 3 m,
AE
CE

ZACE= 60°, tan ~ACE =

ffs AE=3/3 m.
£ Rt ACBE W, CE = 3 m,

e _BE _
/BCE=30", tan LBCE—CE
BE_/3
3 37

f#45 BE =J3 m.
S AB=AE + BE =33 +.3 =



43 ~6.92 (m).
6. 92<8,

CHEES B A8 m A SR

fes Bz XA,
BB R

#. 14 D{FDE | AB F A E.

DF 1 BC T xi F, 40K .

7 Rt ACDF 1, sin /CDF = |

CF
CD

—sin 37°~0. 60,

oS LCDF:%:COS 37°~0. 80,

S.CEF=~200 X0.60=120 (m),

DF =200 X0.80=160 (m).

“*AB_| BC, DF_1BC,

DE | AB,

. /B=_/DFB=_/DEB=90".
kit BEDE 2.

S.BF=DE, BE=DF=160 m.

S AE = AB — BE ~ 300 — 160 —

140 (m).
1t RtAADE 1,

tan ~ DAE =PE

AE =tan 65 =~2. 14,

S DE~AE X2.14~140 X2.14 =
299.6 (m).

S BFE=DE=299.6 (m).
S.BC=BF +CF ~299.6 +120 =
419. 6~420 (m),

R A 4 T B 3 4
Z@mﬁ%%ﬁ4%m
@%E% A TE et 7

(1) HEE
AC=z, CD=2x+J/3x,

. tan 15° _AC _ _ x  _

CD 27 +V/3x

A=
s I5F

27’\/§9
Bl tan 15°A9{E & 2 —/3.

(2) Wk E .
A

45° 22.5°
C B D

# Rt NABC v, /C = 90°,
Z/ABC=145°, $t & CB £ 5 D,
f#ifs BD=AB, ¥ AD.

S D=22.5"

# AC=BC=x,

N AB=BD=2x,
¥ CD=BC+BD=x+/2x.

ctan 22.5° =AC _ &

- CD +/2x
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) tan 22. 5RO FUR/Z 1. (2) f&: 'ftanA:%»
(1A HEESETHEAS

H e L — —
AW, BEAENEEHan P08 WACT.

. EHEBWEY, AAKH  cotA—be—ii—1.

54t BA AL §

gl I B+ RE MHE4HORE
7 H ’ EE < AC )\5\ D 0

B WP MRACERD- M 00 w1 tmm RS
AD=AB. §

D LA MR A AR

/g 0.1 TS, JF E RS

;/p\\\\ R LR D A

E y  BISEERRIE 1 0.1=0.9.

3 TN Y T AR

E RtAACB H1, sin A=

a B, 410 000 X 0.9x— 3 X
5 10 000=12 000. B ar="5=
W AB=5. AC=/5—8 =4, Wi - =5
S AD=AB=5, AT RIEBURMANGES . ik
CD=AD—AC=5—4=1. 312000 JTRAIEG, SE ARG 4
7ERGABCD i, CD=1, BC=3, | TIfEMHLN 1.7 L.
~BD=yT+3 = /0.  IEBVAEIEEET AAES
_BD_J/10 i EwmeR. BEEN 5 AR
I sadA—E = 5
WS EARRMARAN A,
SR mRIE—
(D V3 [N RIAABC | 1. 0.9 CHRARIRAE T b Bcdin .
i, o = 30 5 BC — 5 AB. DGR SRR RIS BRI

S D 0.9, AR
SAC=VAB —BC* SJAB = AB' = g s iR 24N 0. 9.

;3 220000 CRRARIHUAR s Bt ol
Bap e AC_ 200 R R R I 1 B
o AB. ..cotBO—BC—1 3. s X H 1% { Z
2AB O H0.9. ST 18000 MU
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S
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1

6
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R

ViR
i z A
/N /N N
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" T A Y T 9
AR AT 1, AT 6 b A5 AT B
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L. N HA 1 MR Sl
JL P 15 4 2 . 4. TN YRR R
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g (1) “CU/NEREPLEEK 10 K,
Horp 6 B RS20k,

CIX 10 YR B LT BR 1 0 % h
6 _3
10 5
(2) i &
FFi7R.

SRR R NI

=)
@12 G4 L, L 4, G4 4L,
AR AT, dh 16 Fp &5 al g
Agh R, Hbh BBk 142
HER. 1T ASEBERIA 2 R,
SO BOER R 1 AN Bk

ARHR BN 5 = .

(1) 64.8  [f@#r )b @]
A, HAS R R A oL —
20% —7% —55% =18%, . HAh
B9 i A I8 0 IO R
360° X 18% =64. 8°.
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TRil&E=

(2) f&: BB E S, W
I 0 5 2 3 B 0B 20%.
VI C— TR  r T EM
WIS 500 X20% =100 (0.
100 %0.2=20 (J7J0) , |
ST i — AT TR BT
i (R ZE R A R 20 T . |
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T 45
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RN A NN

RN |
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(D 500 108" URHIZKIAE
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500
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kR A B BT (37 B R
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